31 femmw, 2014 = 2,10,000 ¥ TR W= BFC S 75%
ﬁ@ﬁﬂqﬂm&~ﬁa%ﬂﬂobooﬁﬁﬁﬁ%m&
5,000 % T & GAF TR T T | 31 femER, 2014
mvoooﬁﬂ%ﬂ%ﬁﬂwﬂﬂﬁ%ﬂﬁﬂmmﬁu
Mooo«.ﬁﬁam,oooﬁmﬁmﬁimﬂﬂﬂaﬂ
TG S g T8 o 15.000 % off | 9EE W art
8,000 % & ol | HFF T 0% FT W G BY H TAT |

F1 34 ZTERO A9 den

T H 1/4 TEE T gEF. AE
BN o 9w fE o w oEE

8. Discuss the meaning and accounting treatment of normal
wastage, abnormal wastage and abnormal. effectiveness/
i S 15
cain with illustrated figures. ,
HH SYSHY, JHHA AU Y STHHE G9E9ierdl/eny
)
w1 e q el HERR H AwS] Hfeq avie wife

. : : .
9. What 1s transport operating costing ? Discuss th
objectives and accounting procedure of transport operating
15
cost. o ) ,
Ffifen FifEn #1 ¥ 7 289 Wi e &

IERVT A A@FA WA F AUA FHifAQ

22,700
L-12537-TR 10

Roll No. Total Pages ; 19
BCQ/D-16 12537
COST ACCOUNTING
BC-501

Time: Three Hours)

\

NMaximum Marks : 80

Note : Attempt Five questions in all. LQ.No. 11 compulsory.

U Wy 3 %ﬂﬂm_ﬂug_wﬂmﬂ

1. Compulsory Question

(@) Explain fundamental principles of Cost Account,
(b)  Discuss t}

Order.

(¢)  State the met]

1e factors affecting the size of Economic

10ds of accounting and absorption of

office and administration overheads.

(d)  Give the meaning and features of Contract ﬁom:so

(¢)  Describe the procedure of recording cost under Job

Costing.
SIREIRAC

.

Evmﬂaﬂ@ﬂ%ﬂmﬁ@ﬁ&ﬂ%ﬂﬂﬁq

() 3%4&%%3%%%@%%@%
%ﬂJﬂ#ﬂmﬁw~

5x4=20

=1I3-12537-TR

P.T.O.



1 Define Cost Accountiny. Discuss the objectives of Cost

AT O ®] TS TOIT

—

e

¢

E3lGLIE

FIAT | fafr= fafal =1 ot

- basic principles of Inventory Control.
A w1 AU RIS |

meznufactures 3,000 units of a product

o

8-

-

k™

(h) A company
per month. The cost of placing an order is Rs. 100.
The purchase orice of raw material is Rs. 10 per
kg. The re-order period is 4 to 8 weeks. The
consumption of raw material varies from 100 kg. to
450 kg. The

The carrving

average consumption being 275 kg.
cost of inventory 1s 20% per annum.

You are required to calculate

(1)  Re-order gquantuty

(i1) Re-order level

(111) Maximum level

(iv) Minimum Level

(v) Average Stock level. 5+10

(%]

L-12537-TR

AT mﬁuiun
T 4R 8 mee s TS
- ) b = UJ T
T . LT EEI 0TS e
g nﬂﬁﬁaﬂ%mwoﬁnmﬂw e
o7 ﬁﬂ@ W . ¢ ST
() ey =
(i) stfrman
(iv) =Fam
V) o = owy
4. i
Write notes on the followine
(@) Idle ¢ . N
@.v o Ime and its cayses and accounting treq mens
: abour Tumnover and jtg effect on co Hc w o
) st. VTV

mﬂﬁ@mﬂ@ﬂg?@m‘

-~

[

Shakti Enterprises I 4. has th
A, B, C and two service

fc 1
ollowing figures are cxtracted from ¢}

Oogﬁmzv\ :

Rent and Rates

General Cm::.:m

(-2014) L-12537.TR

ree production departments
departments D and E. T}

e
1€ record of the

Rs.

10,000

[

200

£.T.0.



Indirect Wages 3,000

Power 3,000
Depreciation on Machinery 20,000
Miscellaneous Expenses 20,000

The following further detail are available

Particulars Total A B C D E
Floor Area

(sq. ft.) 20,000 4,000 5000 6,000 4,000 1,000
Light Points 120 20 30 40 20 10
Indirect

Wages (Rs.) 3,000 900 600 900 450 150

Direct Wages

(Rs) 20.000 6,000 4,000 06,000 3,000 1,000
H.P. of

machines 300 120 60 100 20 —
Value of

Machinery

(Rs.) 5,00,000 1,20,000 1,60,000 2.00,000 10.000 10.000
Working hours — 12452 8056 8132 — —

The Expenses of D and E are apportioned as follows :
A B C D E

D 20 30% 40% —  10%

E 40%  20% 30% 10%  —

L-12537-TR 4

What is total cost of an article if its raw material cost is
Rs. 100 and labour cost Rs. 60 and it passes through
departments A, B and C for 4. 5 and 3 hours respectively.

15
e TeEes fd. & @1 SEEA fawm AL B, C @ 9
|fes fasm D qen E £ 1 e
9y [y g

%,
fean qar = 10,000
T YT 1.200
i S Ceil 3,000
wifeh  (fastet) 3,000
W W Em 20,000
fafas == , | 20,000

faaror gl A B C D E

@t T 20.000 4,000 5,000 6,000 4,000 1,000
32 Uised 120 20 30 40 20 10

ﬂmﬁ.% (®.) 3,000 900 600 900 450 150

(2-21/15)1.-12537-TR P.T.O.
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T8 Tl
(%) 20000 6,000 4000 6000 3,000 1,000
s
H.P. 300 120 60 100 20—
T
W (%) 500,000 1,20.000 1,60.000 2.00,000 10,000 10,000
e = 12452 8056 8132 —  —

Um&m%@wiﬂﬁw“
A B C D E

D | 20% 30%  40% — 10%

ts

E 40% 20% 30% 10%
ofe Tl g F ged 100 7. Td oM @ 60 T B A
ae F wE AT T E SEE p frafor # favm A, B

msn_ﬁ,ji;f@mﬁﬁmw%,w_

5. In respect of a factory the following figures have been

obtained for the year 2014 -

Rs.
Cost of Material 6,00,000
Wages for Labour 5,00,000
Factory overheads 3,00,000
3,36,000

Administrative charges

[-12537-TR 6

Selling charges 2.24.000
Distribution charges 1.40,000
Profit 4,20,000

A work-order has been executed in 2013 and the following

expenses have been incurred :

Rs.
Material R.000
Labour 5.000

Assumning that in 2015 the rate of factory overheads has
gone-up by 20%; distribution charges have gone down byv
10% and selling and administrative charges have each
gone-up by 12%%. At what price should the product be
sold so as to earn the same rate of profit on selling price
as it was in 2014 ? Factory overheads are based on
Direct Labour and administration, selling and distribution

on factory cost. 15
F FTEE # wed § md, 2014 #1 frAfafes @

T
q=T; = 6,00.000
g9 F gEL0 5.00,000
FRET 5% 3.00,000
T 3,36,000

(2-21/6)L-12537-TR

-

P.T.0.



a%g 99 2.24,000
faaor 9uR 1,40.000
o4 4,20,000
2015 ® &M@ w1 IRw fgen 9w fefafas @@= g0
&,
BikEl 8.000
™ 5.000

T HE Gt fF 2015 § SR@E Ui & OE 207
Iz T, fam AR 10% FH B TH 74 T wOEo
TAR TEF 121% &% T | 59E FE g W og= T
afe foFa 9o | o@s 1 T 2014 F WER E D
FREE TG Wead g8 TY YIS, FREME a5
fawa au famo ® snaia g |

7. ABC Pvt. Ltd. is a firm of Govt. contract. It took a
contract of Rs. 5,00,000 on Ist Jan., 2014 and incurred
the following expenses on it upto 31st Dec.. 2014 :

Rs.
Material Purchased 62,5300
Maierial issued from store 45.004
Plant Issued 30,000
Wages Paid 65,000
QOutstanding Wages 14,500
Office Expenses

L-12537-TR 8

Cash received upie 21 Do 2ol amounted Rs. 2.10.000

o~

haims T2 7w arh zermfied Matenal valued Rs. 0.000

i Do sozee s Reo 20000 wers destroved due o dire
~lant costing R S.000 retumed 1o
ees iefha e ieaes opsting Re 30000 wer2 sold for Rs.

“ws o3t oof work done but uncertitied was

’

Too5 50 Materal at site were valued at Rs. 8.000.

“ - .-co depreciation @ 10% on plant. Resene 1/4 of

---7- -aceived, transfer 3/4 of profit received to Profit

PR

-+ " 553 Account. Prepare Contract A/c, Work-in-Pre 2ress
= : znd Balance Sheet.

-3¢ w fo. o e w1 O E O EE 5,00.000 7
Z | =9Ed, 2014 F R ZE fa qgn 3l fREe, 2014

== =1 =9 gu
o,

oo e 62,500
wr g g ma @l 45,000
ECERR o ERED 30,000
e ol uoic fical 65,000
EEARIR L 14,500
Fiferg &= 10,500

(2-2117)L-12537-TR 9 P.T.O.
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BCQ/D-16 12538
ENTREPRENEURSHIP DEVELOPMENT
BC-502 ‘

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. Attempt any Four questions
from the remaining €ight questions.
T Hem 1 e ¥ 1 9W e Wl H ¥ fEeR
TR T $ IW ST

1. Explain the following in brief :
(1) Corporate Entrepreneur.
(i) Explain the term start up stage in a new business.
(111) Explain Economic Environment.
(iv) What do you mean by market survey ?
(v) Explain any four non-bank sources of short term
finance.
ffafea =1 989 o w= Fifgg .
(i) SR ITH |
(i) =T9EE & YOI GEq F1 909 FHifay |
(iii) ooF AR F HEET |
(iv) 9K Thev ¥ 9 ¥ §EEM § 7

(2-31/1) L-12538 P.T.O.



(v) oeudeid fodfm e = medw w3
W) HEYET |

Definc an Entrepreneur. Explain the role of an entrepreneur
in the development of an economy.
ST w1 9Rfaa ST | v ademw § fawrm §

What is a Project ? Explain the various stages for starting
up a new project.

TF WS TR 7 UF H uREem # oy e
TR SEees #1 gu wifey |

What is Business ? Explain various stages of a life-cycle
of a new business.

SEEF T T 7 UF U O™ e w1 fafee
HFEAA w1 T FfE |

Discuss the components of business environment in detail.

SAGHIAF SAERY & Sehi F1 fSERyss v i |

What is feasibility report ? Describe the guidelines given
by Planning’ Commission regarding feasibility report.

T Roie w1 ¥ 2 W RuE & gay § A s
S S feen-feen & s wmifw

L-12538 2

7. Write short notes on the following :
(a) Market Planning
(b) Demand Forecasting.
frefefes w e femfraf fofen .
(a1) =R FEeA
() = gaEE |
8. What do ycu understand by short-term sources of finance ?
Explain various short-term sources of finance.
fa¥ & soTEeis WA 9 o9 w 9w ¥ 2 e @
faf srevwe™ e w1 9o i |
9. What is EDP ? What are the problems faced during
EDPs? How can these programmes be made more
effective ?
o fosm #EFs @1 oo FIfee | 59 sial F-am
FHEN S € 7 A wdHH Y g a9 S wey ¥ 2
(2-3172) 1.-12538 3 19,800
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s w emE o T 6,00,000 T e =
L ~e ~ €
2 JHEN
18.1986 H T 42,000 H T

T feq T T3 A e
. wa 34 fea T
e TE "l
T g &l | . i e 3
7z WY ge T Ael T TS T

, =g T T T o4 |
2016-17 & fau w773 17 T

e F AN FEd FENT RS
1983-84, 1986-87 A% 2015-10 7 T F -
“ ) =er 1081
L E 116, 140 FE 10
FHM: € ¢ 1

wo 1 W a )
me QM m i T4 < i

" m.xEm.E ﬁ‘.:wMM:MMHMMZAWBBOE Securities w
MHV me-ﬁmx Government Securities.
Wﬂ@@m F THIET )
() FEE R mﬁj
(i) TR wEER A

24,300
8
1.-12539
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Roll No. Total Pages ; 08
BCQ/D-16 12539
INCOME TAX/]
BC-503
e Three Hours] IMasimum Marks - 80
Note

Q No. 1 s compulsory and answ er o each question
should not pe more than one page. Attempt any

Jour
questions out of remaining eight questions.
T WE 1 S ¥ ag g

TS 9 afus 5 =

T F IW ouw
.olﬂamﬂmﬂ%n@

T

L. (i)  What do you understand by Annual v

‘alue of House
Property ? 4
ﬁj-ﬁﬂm,%ﬂmﬂmﬁ@%ﬁﬂ%wv
(1) Write q <

101t note on Expenses on Scientific
Research,

4

KCEilEey éﬁﬂg,ﬂﬁﬁgg_

(1i)  Explain cost of acquisition of Capital Assets in
brief.

4

P.T.O.



Z 1

| | ) N _
™ . Ug H Agded H oS FAEY .»
P FHd Ud T o
es
) What 1s meant by Perquisit
v vJ.O_- &> ‘v
ﬂ FAAE F OF AT T«
/1\/ . . a
] sessee is determine
l2in how tax liability of an assessec -
2. Explam | ;

O
nce
ith reference to his reside
«.» 1

< ‘ < \ ‘ \ N
&,
N | |

i 1
1 - not included in tota
rwelve items which are not 1nc .
) Vi
3. Explain an)
income of an assessee. , . o
ST E U awE " F
T g €
. : 111l
ir i dne in a Jute miu o
 Nair is working 0 ot
. March, 2008. He is in the grade of
since lst Mar 2

company at Kolkata

4.

uoo mvg 1> ACariiess # h\ 4]
s T ﬂ %4 A1) Crs 1
O S ] L./ a one a A_®m-H mmm

unt. During the previous

/

He contributes 12%

,U«.
llowance to Recognized
a

1 s an equa
tributes an o
o £F 40000 from his provident
0

year, he took a loan a0

% T Q _ﬁ 20 H LT 1-
G_:_O “ 1 (@m— Y vy (r»L(: 19 H‘_ﬁ:ww #me mwﬂmr%

:L-12539

He has peep provided with 3 reny free house owned by
the Mill, the fair rent of w hich s # +4.000 per annum,.
He is getting Comy €rance Aliovance of 7 600 p.m. for
private purposes, Medjca] Allowance of 7 400 pm and
Servant Allowance of ¥ 4 pm.

He received # 1,20,000 for encashment of Jeave on Ist
September, 2015, being 10 months’ leave pot avalled by
him. As per the rules of the company. Mr. Najr was

entitled to 30 days' leave for CVery year of service.

He had beep provided with the H,mo::v\ of a gardener and
a cook, who are cach paid ¥ 159 p.m. by the employer.
He is also provided with 5 small car by the employer for

official and private use.

Two children of Mr. Nair are Studying in the Institution
run by the employer for which no fees are paid.
Expenditure Per student per montp 1s 600,

Compute Mr. Nair's taxable salary for the Assessment

Year 2016-17 assuming that salary is due op the first day
of the next month,. 15

Eﬁﬂﬂﬁﬂywogﬂﬁmﬁﬂ mﬂﬂmﬂmﬂﬂﬂ
mﬁﬂm ,,;mu«mooo -400-16.,000- 700-23,000 % Famr
ik mﬁ%ﬁﬂﬁﬁuﬂwoxﬁaﬁﬁmﬂ
Jﬁﬂésﬁﬂﬂﬁa%%ﬁﬂg%@%w
ﬁﬁﬁ&ﬁmﬁﬂﬁmﬁﬂmﬂmﬁﬁmﬂﬂmﬁ

(2-222) L-12539 3 P.T.O.



F 12% HYEF wa & fued sHe feea ot aus w5
SR F F | ad ¥ s T % faw % fow s
I wifeEve wug H 9 T 40,000 F w9 fomn fowd w
T M g9 W 74,000 F YT A9 g9 H wA FH
foma | 38 e & w@ifgs 516 ffe 9 45 0 A7 &
gfgen fiehl g2 & o sfem fuan T 44,000 a1fd € |
I T 600 I TR mEW s, fsiowEm & fem 2 400
yfa e Fafsen s 9en T 400 Wi A R T i @
T 139 1 fEaER, 2015 F1 STERT F TREE & &9 H
%1,20,000 W< A, S 10 HE & FEEN T TN FEH
F % FN F R % ER R AR g gl
gar % fow 30 &7 & sEww &1 afuewrd o |

I TE Wl 99 UH TEEY w ogew d % W R,
9% s #7150 WA A fEea g0 s w
T3 W@ B ER & gl o faem 3 s
w et Wi ow faw % oW ® TR F W w=
frie g0 9T S aw famem § foar w @ €
e forg a8 =i wE 79 I T 1 v °E ufa Aw
T 600 =19 Tl T |

Fr-fufor a9 2016-17 & fAU 90 % F-ATG I
FT MOAT BT qeN A WA oifon fF g gt

N

g & A A% $ Ted &g <7 B O§ |

L.-12539 4

X has occupied three houses for his residential purposes,

particulars of which are as follows :

Particulars Housel Housell  House III
(opted as self-

occupied)
4 < 3

Standard Rent under

the Rent Control Act 15,000 20,000 -

Municipal Valuation 10,000 30,000 20,000

Fair Rent 18,000 18,000 35.000

Municipal taxes paid 1.200 2,400 3,600

Repairs Nil Nil 200
Insurance Premium 1.200 1,300 600
Ground Rent 1,800 7,000 400

X borrows T 30,000 @ 20 per annum for construction of
House III (date of borrowing : 1st June, 2008; date of
repayment of loan : 10th May, 2016).

Construction of all the houses is completed in May, 2013.
Determine the taxable income of X under the head ‘Income
from House Property™ for the assessement year 2016-17.

15

(2-22/3) L-12539 5 P.T.O.



T W U A
faaut gl "1l weF I
(Frett e
& fer)
z 4 4

TR T, e

feiam arfufem &

I 15,000 20,000 —
TR HeAEA 10,000 30,000 30,000
zfeaa e 18.000 18,000 35,000
e FT F sEE 1,200 2,400 3,600
A Nil Nil 200
i difeTm 1,200 1,300 600
CIERERE! 1,800 7,000 400

w3 e 1 ® "%W\aﬁowooo, 20 Wiqed W
R 11 E A B G R (T TR Al 1S,

2008 T A" FE H AE 10 e, 2016) |

meft TR @ fil WE, 2013 ® ORATE T | T
. s
e frsr T 2016-17 & o wER-wER W OSH

T I

L-12539 6

-

{="

224) L-12539 7

Explain clearly the deductions that are expressly allowed

i computing the income from business under the Indian

Income Tax Act, 1961, 15

R FI AE F M FE T omw whmT. 04 =

Miss Meenakshi had purchased shares in a company on

1.3.1984 for ¥ 21,800 and or 1.2 20}

Ja—-

i

for ¥ 22.300. She
013 for T80.000 on 1.1.2016. She

N

sold the shares om
also sold her jewellerv for ¥ 6.00.000 on the same day
(1.1.2016) which she had pu

1.8.1986.

rchased for ¥ 42.000 on

She invested the full consideration from sale of all these

assets 1 the acquisition of a new residential house on the

same day.
Compute taxable capital gain of Miss Meenakshi for the
assessment year 2016-17 assuming that she did not own

v

v residential house on the date of shares and jewellery.

<0 and 1081 respectively. 15
il = 131984 W T 21800 [ 1.3.2015 =
2300 = F7 77 BT R | IW 132015 F H9

%«f,.,,snﬂrﬂ_wﬁmuc_ 016) =1

P.1.0.
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BCQ/D-16 12540
COMPANY LAW--11
BC-504
Time : Three Hours] [Maximuni Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory
and carries 4 marks for each part. Attempt four mor

C
g 15

o

questions from remaining eight questions carryin
makrs each.

FA UG T I AT | we gem 1 sifEe
¢ o g wm # 4 ww § oW e g §
4 WN W SR W, UEE GV 1S S W E |

(Compulsory Question)

( 2Afard gow)
1. (1) Define members of a comapny. . 4
TE FEA & TeE # g fsm |
(1)  What is Blank Transfer ? 4

Q

FW FYE g @ = oA v 2
(i) Differences between Demat and Physical Shares. 4

e iR fefrra v # @ g o i

(iv)  What is meant by minutes ? 4

.

qeq W o Ay 7 7

(3-20/1) 1.-12540 P.T.0.



(v) What do you understand by the term ‘Divisible
Profits’ ? 4
‘foqmea @9’ TR G A9 FA GEEA § 2

Discuss the rights and liabilities of a company’s

members. 15

T FO ® WE % fumR qw Qfyel W el
At

How are Directors appointed ? What restrictions have
been imposed by the Companies Act in respect of the
appointment of directors ? 15
el w1 frgfed fa yPR it W B 2SSl W
Tofw = day o st sifufrag g == wfassy e
™ E 2

Define a Company Secretary and state his/her powers or
rights. 15
Frrd gfeg #t b ST qen 3ge ifusry 1 v

ST |

What 1s Extra-ordinary General Meeting ? By whom can
it be called ? What are the legal provisions regarding this
meeting ? 15
SR FAE T HY FEd € 2 T WA g g
27 Th ww & oy § duifie e w0 ¥ 2

1L-12540 2

Define Voting. What are the various methods of voting at

company meetings ? 15
nﬂmﬂ%ﬁﬁ&ﬂm_ﬂﬂ%ﬂﬁﬁﬁbﬁmﬁ%
FA-HAY T ¢ ?

Discuss the essentials of a valid general meeting. 15

IY WHURT T & STEvIE AN H guiE i

What are the divisible profits ? What are the legal

provisions regarding divisible profits ? 15

faursm-amg o w1 ¥ 2 fausA-Arg ol ® gey o
T YT yEuE ¥ 2

What do you understand by ‘winding up of a company’ ?
Distinguish between members voluntary winding vp and
creditors voluntary winding up. 15
FEH F EGT 9 N oe § vﬁﬁwa%&ﬂ
TA qo -SSR 5N Wesw TR § SiqR wifwe |

(3-20/2) 1.-12540 3 20,600



JarE 2012 § i wiE w5 T
(i) 3 S 400 @1 218.00 5 W &/

(i) 10 S8 900 =if@r 223.50 % wfa =iy
(i) 15 T2 400 AAT 220,00 % 9 I
(iv) 28 715 700 =T 213.00 % ufE &

(v) 30 S 300 91T 224.00 % wfq 4

31 @, 2012 w0 e g OH 1200 wifEl off
frefafed fafeel o =% %1 geareq frrfeu

(1)  FIFO fafy

(i) LIFO fafy

(iii) o oy

Differentiate between scrap, surplus and obsolete items
with suitable examples. Also give any M.:Ao examples of
converting ‘Waste to Worth'. 10,5
Fafire, A R ey FA H R 3 Iamr
T WY FWEY | CAER F A ¥ ufEfie w9 #9558 9
EEUSE R L

What is Purchasing ? Explain legal and ethical aspects of

purchasing. 5,10
¥ OFN T ? HT T OUEE ok AfwrE suRen w
O FHIST |

L-12541 4 19,600

Roll No. v Total Pages : 04

BCQ/D-16 12541
MATERIALS MANAGEMENT
BC-505

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. It consists of five questions of
4 marks each. Attempt Four questions from the
remaining eight questions carrying 15 marks each.
W Hem 1 afEd ¥ 1 3@ 9w & 5 s § aen
TIF 9N 4 HHE H T | I 8 wA § ¥ fred
IR FEl % IR AT SRR owew w15 et
F R

Compulsory Question

( et wvw)

1. Write short notes on the following :
(1)  Supply Chain Management (SCM)
(i) Bills of Material (BoM)
(ii1) Synectics Technique
(iv) VED Analysis
(v)  Economic Order Quantity (EOQ). 4x5=20

(2-32/1) 1.-12541 P.T.O.
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PRV

ware parts managenient 7 What are

alfecting spare part inventories 7 7,8

T TS F YaH /IS Ow WE
OGRS W A

2 nerpetual mnventory

Only physical inventory

th. The physical inventory

wed 200 bags of rice at Rs.

irchases were made in

Rs. 223.50 per bag.
s. 220.00 per bag.
s. 213.00 per bag.
s. 224.00 per bag.
ical stock was 1200 bags.
tate the value of the stock on
ding to (1) FIFO method; (1) LIFO
Cost method. 5,5,5
% o AW 9% FE gaq 98]
i F TR AT N | W WE % 3§ sad
FTED T OS[A 2012 & 3§ 9if
g wEE 21225 % 9l A ® femm
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BCQ/D-16 12542
INVESTMENT MANAGEMENT

GROUP |
(Finance and Taxation)
BC-506
Time : Three Hours] [Maximum Marks : 80

Note :  Attempt Five questions in all. Q. No. 1 is compulsory.
T

1. (a) Name four factors infiuencing investment decisions.
mm.ﬂ%md_ﬂﬂﬂﬁmm%ﬂ&%yﬁﬁ
BRI

(b)  Define Business Risk.
(¢} What are the characteristics of a Stock Fxchange ?
UF YR AR # O frewa ¥ o
(d)  Explain Intrinsic Value of 2 Security.
{e}  What is Moving Average Analysis ¢ Sx4=20

~. - o

= TE favem smm o )

(3-38/3) {.-12542 P.T.0.
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Define the term Investment. Discuss different’ avenues

available to an investor for making investments. 15

e =1 wfiwfm wifve | o feve & g 9y 53
%@mwﬁﬁﬂiﬂmﬂ&ﬂm_

Discuss some of major requirements for listing of securities
on a recognized stock exchange. 15
TF H=d W IR aeR 5 yfaafad &1 geegaa @
fere g ﬁﬂg& ™ g9 ST |

What is risk ? What are the types of risks involved in an

investment ? 15
Sifew F=1 ® 2w fow o wifhe Sifew € ®1 YR
g2

How is Technical Analysis different from Fundamental
Analysis in making investment or trading decisions ?15
freer =1 =R fof o F qete foavemo e favemw
¥ Y o ® 2

What do you understand m«dosam In perpetuity ? How
are they valued ? Explain with examples. 15
T (STNEAHE) 98 (Bond) ¥ o9 F1 THEW € 7
ITH qed BY e T ) SR § WY TR |

3%

7.

Write brief notes on the following :

(a) Economic Analysis 8
(b) Investment Process. A 7
frfefea o dfga fewfosf fafey .

(1) s favermo

(a) fa@ =1 gfwa

What i1s SEBI ? What. are the objectives for setting up of
the Board ? What are its functions ? 15
IRadta wfaqfa @ fafma &€ (SEBD) w0 € 2 & #
T ® R IRYT T2 TS O’ FE § 2

What is Industry Analysis ? What are the key
characteristics in Industry Analysis ? 15

SN faveryor @@ € 7 SEm favemo § Heoagol favivand

T ?

(3-20/4) 1.-12542 3 3,30Q



Roll No. v, Total Pages : 03

BCQ/D-16 12547
-~ BUSINESS POLICY AND STRATEGIC
MANAGEMIENT
BC-511
Timez: Threc Hours| [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
T OlE WA ® T AU | wvT gem | e
z

¢

1. Compulsory Question
(a)  Explain the characteristics of a mission statement.
(b)  What are the roles of objectives in business ?
(¢)  Describe the source of information for environmental
scanning.
(d)  What are the risks faced under cost-leadership
strategy 7
(¢)  Explain the importance of strategic evaluation.
Sx4=20
s e
(F) W = tn § gea # s s avia wifem

(1-2018) 1-12547(TR) P.T.0.



(2) wE-"gc@ Tl ® s fEe-fem Sifed @

(3) wfcis Hogisa & "etd 9OEl |

i~

[

I3

L-1

Define Business Policy. Explain the oE.wo:«\mw\w:m

importance of business policy. 15

=R A w0 gv N | TOF SEERdl Ael "eT
forgor 2fay

What do you mean by strategic management 7 Stale the

process of strategic management in organisation. 15
e WA W T A UM § 7 UH €eA HowilerE

g HI WAl FaE |

What is the concept of environment in Strategic
Management ? mxwwgz the different environmental sectors
for the purposc of strategic management. 15
e gy H TEeRe F e o € 7 39 9

& fou fafas waleon &3 &1 guF WY |

Enumerate the different dynamies of Internal Environment.

15

e w fata= afaviemed = FaEe |

2547(TR) 2

(2:20/9) 1.-12547(TR) 3 Xt

What is Corporate Strategy ”

Explain different types

factors of corporate strategy.

vt
L

-

- ~ &
HUHET Soef] #H 8 S

U BT |

FIOTZ ] F OYHIUEHTE =

Define Strategic Choice. Explain the process of strategic
choice in a business.
wferss g w1 AR s

s

& uiEw =1 faar €fsu o

.
£

| MR H EieE T

What is oreanisational system: 7 Explain the role of
organisational systems in stralegy implementation. 15

FreTeRE 9T F € 7 ooedl TR H WSAnTE

yonferal &1 qfFs SRy |
What do you mean by strategic control 7 Explain the
various types of strategic control. s
wfms feEm 9 o o= Tae § 7 3 [
ED] CRIEL h

i
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BCQ/D-16 12554
COMPUTER APPLICATIONS
BC-505
Computer Aided Design

Time : Three Hours] [Maximum Marks : 60

Note : Attempt Five questions in all. Q. No. 1is noBﬁEmoQ.
All questions carry equal marks. .
@t T % IW AT 1 W we 1 afart
3 el WA @ oiF wEE T

1. Short Answer Type (compulsory question) :
(a) How is AUTOCAD software used in art and
‘commerce ?
(b) Explain tag image file format G,uuwv. :
(c) How are AUTOCAD Softwares classified ?
(d) Explain the working of touch sensitive screen.
() How will you set up 2 default drawing directory ?
()  Differentiate a first angle and third angle projection.
2%6=12
g said A (e T)
(a7) @en @en afvea ¥ AUTOCAD Wieeat &1 ¥
39 fmw W@ ¥ 2

(2-10/13)L-12554(TR) | P.T.0.



%

i1

(§) Tag Image File Format (TIFF) &1 o0 ST |
(®) AUTOCAD W@ @ =i 8 F@ § 7
(%) Touch Sensitive BhH &1 FHEAYOTEA 1 FuiF HIFT |
(3) Default Drawing Directory F M9 HY setup F ?
(%) First Angle T Third Angle WoEH T 3R FHIEC |

(a) Differentiate an Interactive- graphics and a Non-
interactive graphics.'
Interactive Graphics @1 Non-interactive Graphics
o Rty |

(b) Describe Hardware and Software requirement for
using computer graphics. 6,60
FropER Wieed ¥ 0 ® fa Hardware @@
Software 1 STETIHA 1 AUA Hifay |

Describe the architecture of Raster Scan Display. Also
explain importance and limitations of raster scan display.
12

Raster Scan Display &1 aTR[Hcn H O HIST | TR

e qul Omd o fafee )

Write notes on the following :
(a)  Shadow Mask Technique

(b) Bean Penetration Technique. 6,6

%1} Shadow Mask Technique

(&) Bean Penetration Technique.

2354(TR) 2

5. Explain the following commands :
(a) OFFSET
(b) TRIM .
(c¢) EXTEND. 6,6
frefefea wawel o aulH e
(31) OFFSET
(¥) TRIM
(9) EXTEND.

6. Draw a bicycle using AUTCCAD commands. 12
AUTOCAD HTEH & B Bicycle SWEC |

7. Compare and contrast positioning technique and pointirg
technique with example. 12
sereXu Hfed positioning Tl FW pointing FF A
H ger wieg |

8. Plot a line from (0, 0) to (6, 10) using Bresenham's
algorithm method. , 12
FeEm W Teifen fafy = oW wW@ T (0, 0) W
(6, 10) @md @it=g |

9. What is a 2-D transformaticn ? Explain transiation of a
point and translation of an obiect, i2
2-D : w1 OTMEIE UH
Object & {

(2-10/14) L-12554(TR) , 1,900
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BCQ/D-16 12555
COMPUTER APPLICATION : DATA
STRUCTURE
BC-506
Time : Three Hours] [Maximum Marks : 60

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
FA U WA F SW AT | uE gem 1 sfed
21

1. (a) Write formula for address calculation in 1-D array.
1-D ® F W dexowE ® fag g3 fafew |
(b) Abbreviate LIFO, FCES. -
LIFO den FCFS w1 Ui &9 fafew |
(c) Write access pattern of a record in ISAM.
ISAM ® f&E #1 ww i fafe |
(d) Name types of Queue.
F (FMW) F YHR IO |
(¢) Name two pointers used in DLL.
DLL ¥ wg=1 & fagsii & ™ fafaw |
(f)  Differentiate Array and LIST
Array de1 LIST ® 3@ faferm |

(2-10/15) L-12555(TR) " P.T.O.



Define Array and its types. Write an algorithm to insert
at Kth position in 1-D array. 12
Array ® UR9 T qen we weR fafeuw
I-D @ # Kol feuft w2 w0 3 fom ueifen
fafeg |

‘Define Stack. Write algorithm for PUSH and POP. 12

Stack &I g9t €T | PUSH @& POP & fom
TiRen fofem |

What is condition of overflow in Queue. Write algorithm
to insert in a simple queue. 12
H A e w fefy wn R 0 fomw W A v
FH H TENRen fafew |

‘What are applications of Stack ? me&s concept of

Recursion with example. 12

Stack & STIYAN FM € ? ISR WiEw RFET T
FH TR HIFT |

Define LIST, its TRAVERSE. Write an algorithm to insert
at Start and End in a SLL. 12
LIST @& 3&% TRAVERSE 1 uRwmr difew | SIL
¥ Start @M End W T &E F1 TeRen fafau |

L-12555(TR) 2

7.

Define Tree, B-Tree and INS/DEL operation in B-Tree. 12
B-Tree H Tree, B-Tree @ INS/DEL &f0om =
R wifse |

Define File. Explain INS operation in Index-Sequential
file-organization. : 12
TEA BT URWT AHET | Index-Sequential file-
organization ¥ INS R¥M &1 Uiy Hifsm |

Write notes on the following :
(a) Multi-List File

(b) IWS in CLL, 12
frfafes w feafml fafen .
(31) e wrea

() CLL H IWS

(2-10/16)1.-12555(TR) 3 1,900
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BCQ/D-16 12556
OMSP : OFFICE PRACTISE THEORY
BC-505
Time : Three Hours] [Maximum Marks : 60

Note : Q. No. 1 is compulsory. Attempt four questions from
the remaining eight questions. All questions carry equal
marks.

W e 1 e € 1 9 e we ¥ 3 R AR
T FfAT | wd ww w oF GHH F |

1. Define short questions : 6x2=12
(a) Envelope
(b) Consumption of papers
(c) Clips
(d) Meeting Notice
(e) Teleprinter
(f) Tour advance.
wferg weAl T gis %_._uﬂﬂ :
(1) fermrm
(7) fOwE & A9
(|) fafafar
(7) wfdn e
(%)
(%) @B0 U

(3-08/5) .-12556 P.T.0.



State the types of envelopes and also explam their different

uses. 12

o % g 1 faewor Sfaw w s 5= yer
g IUEr #l SR Rifee |

What is typewriting ribbons ? Explain their types and
uses. 12
TR W o#n ¥ 7 gEe At wen o3 swEn
FH A HISC

What is Stock Record ? Explain the procedure of stock
record keeping in office store. 12
wiw () fEE w T 7 = fEE w1 ow
FEEE ® WR O TWH & YA H e &g |

What is Quorum ? Explain its characteristics and
importance for holding official meetings. 12
fiffe dom a2 3 aevl d wEed qesi w6
gaH H WEE ® AN &g |

Draft a specimen of Railway Time Table for any
destination at vourt own choice. 12
fdy off TR F AT SO TSl O U (@9 A 29
F1 AL FAET |

What are the objects of preparing an agends for a official
meetings 7 Explam. 12
FE F WA H FAEA @R B ® A IEd

T 0 wEAl FIEr |

1.-12556 2

8. Explain procedure of air reservation booking. 12

9. State the procedure of Hotel accommodation bookinz and
its importance for the tourists. 0
ged gfaa # gET w1 F abw @ famm Zfse
s T w feu TEe s e g )

(3-08/6) 1.-12556 3 HC
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BCQ/D-16 1255
PROPERTY AND LABILITY INSURANCE
PPI-B(C-505
Time : Three Hours] [Maximum Marks : 80
Note : Attempt Five questions in all. Q. No. 1 is compulsory.
It carries 20 marks. Attempt any four from the reriaining
eight questions carrying 15 marks each.
HA UMF T B ST DTWT | U W | wtEe
TS 20 3k E B I VW oms wwd H 0 el ww
T S fE oy 15 s w E
1. Write notes on the following : 4x5=20
(a)  Specific Value Contract
(b} Cattle Insurance
(¢)  Destruction Insurance
(dy Risk and 1ts types
(e) Records of Liability Insurance.




(7) wfEm q91 398 UHR
(z) T dw o afverE |

Z.  Explain in detail :

-~k

(a)  Boiler Machinery Insurance
(by  Theft lnsurance. 8
HwgE Een Fraw .

(37)
(1) W R

! e

detall the concept of Mandatory Public liability
Insurance, i5

At TEefw Tom tm wT sTEsToT o= Ad

S

120

4.  Wrile notes on the

w1y fedEe e A

() frem R

I

6. L[xnlain in detail :

~d

{a) Business Interruptions and related losses

Re-Insurance. 8

7. Wrie a detatle! note on Auto fnsurance 1

[l

8. (a al Insurance 7
RIS

Property Insurance. 8
FITHT |

{

Insurance ?

-

4,11

T overcoming iie emplovee’s

AN o =
FT T
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BCQ/D-16 12558
GROUP INSURANCE & RETIREMENT
BENEFIT SCHEME-I
PPI-BC-506

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compuisory.
F@ ure gl & I AT 1 g wen 1 aifrand
2

1. Define the following : 5%4=20
(a) Leave environment for Government Employees.
(b) Deposit Linked Tnsurance Revised Scheme.
(¢) Group size and minimum participation.
(d) Window Pension.

(e} Rules of Superannuation.

Srimire el AT ] m):ﬂn, :

12558 PO
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BCQ/D-16 12559
ASPSM : MANAGEMENT OF SALES
FORCE-I
BC-505
Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. Attempt Five questions in all.

W ded 1 afer £ e dte weEl @ I G
1. Short answered questions : 20
(a) Sales force turnover
{by Non-Financial Motivation
{cy Market based Sales Organisation
{dy  Aptitude Test

(e} Nature of Sales Force Management.

B o~ oo
Tt TR SITEON

R HATEIT e ST
THAD,
FET e




What are important functions of sales manager 7 What
qualities are required for performing these functions
effectively ? 15
fora voow & ge v oW § 7w o
Fymrmds 0 & fou fe i @ B sravas &

What is sales organisation ? Describe main departments
of sales organisation. 15
mﬁﬁﬁ@ﬁd%ﬂﬁwwwﬁﬁﬁ%m@
fawmi #1 ool wifw

What do you mean by structure of Sales Organisation ?
Describe the factors that determine the structure of Sales
Organisation. i5
FE7 g1 % ¥R 9 v ofme § 7 Rww g
%%ﬂuﬁ@m%mﬂiﬂﬂgﬂ@m_

What do von mean by Sales Training ? Explain vanous
steps i sales force training programme. i
N Fm o owe ® 2 fawm mw whvam s
&  fafas ¥ #1 FHeR sanem

Compensation plays a key role in motivating the sales
force, Discuss. iR
RERECEIIC I tO B2 I i I T

g ¥ 7

7.

8.

(3-07

What is selection of sales force ? Explain its process. 15

Eﬁmﬂﬁﬂn@ﬂﬁwﬁﬂwwﬁﬂ%

What are various methods of compensating the sales
force ? Which method do you consider the best ?
Explain. 15
fora 90 = &ff 2 @ fafs w0 s 2 o
i fF5e &y 3 g wmen € ok s o

Explain various methods of appraisal of performance of
sales force in detail. 15
fFa 7@ & e W oiet s W eR-s
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. -BCQ/D-16 12560
SALES PROMOTION AND PUBLIC
RELATIONS
ASPSM-BC-306 Opt. (i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
H U T F I AR | g wew 1 st

& .

g1

Compulsory Question

( tfrard gyw)

1. Answer the following :
(a)  Nature of Sales Promotion
(b) Games of Chance
{(¢)  Dealer listed promotion
(d}  Money Refund Order
{e}  After Sales services.
¥ IW

¥

CH
®
dim
it
E)

(A v ow g
(H) Eew HE ogaEs
R o B It r < 1

RO L 3Ra0

v
vl
e
o
.



7. Define Sales Promation. Explain the impertance and
objectives of sales promotion. i5

| TOF TR gl TEvdl

-“%\ [aWans *
&1 e CAIS A

3. Explain different forms of consumer-oriented sales
promotion. 15

ufm fagm wEas Faen # sed

4. Write a note on exhibitions and fairs, also mention their

advantages and linitations, 15

3. iate between fashion shows,
promote sales and public relations 7 i5
N . " N ~
dey BIM GEY ™ H Al FrEg | EAY
2N . o - 2 - N
SO ¥ $Y UEed ' T/ FaEd |
G,

15

h

7. Explain the {ollowing : i
It &

(a) Sales Contests

(b) Rebates and Rewards. 15
(=) faa
(") T T w

8. Differentiate heiween free samples and free gifts. When
thev are and what are their advantages ? 15

O HEE AW
EEERER

vt

A U = 1

9.  What arc the reasons for rapid growth of sales promotion

activities in consumer goods markets. 15
b . . . r . . ~
oo SeOE A o frww wegd fwaen w deA

k&

27 gday |

(2-0910)L.-12560 3 206
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OBCQ D-16 12561
INCOME TAX-I
BC-301
e Thres Houss) [Maximum Marks : 80

) N
Note 2 No 1 s compulsory. Attempt any four questions

irom the amB.BE.:m eight questions. All questions carry
equal marks.
T el 1 AtEE ® )9y o WA ¥ 9 w5 uw
T HGC | A v @ ofw wmm ¥
1. Explain the following in brief :
(1)  Income
(i)  Previous Year
(111) Tax Evasion
(iv)  Commutation of Pension
(v)  Capital Asset
(vi) Tax. Free Commercial w@ocnﬂmmm.u+u+u+u+n+mn;
Fefafed ® gdy § e wifwr
(3
i) Ta e
i F F9
) TV # UsHyd T
041511112361  PTO.



(v) TS Ee

How is residence of assessees determined 7-- =20 -z “ix
purposes ? Explain the incidence of residznc: -m otax
liability. 16

AIH F fau wEmal w1 fEm-wm fFTowEr
faif@ fean s1 & 7 FEm-Tam # weafe woww

HHART |

[all!

Explain any fifteen items which are exempted from tax.
16
N ~. ~ ~—~ . N " .
THl Ugg el F A sret T s 3 9 T
Shri Krishan Kumar has the following incomes during

the financial year 2014-15

3

(1)  Income from business in Delhi. managed

from USA 25,000
(i1) ( Income from Pension tor services rendered

in India, received in Londen 15,000
(ii1) Income from assets in Nepal. received in

India 10,000
(1v)  Profits from business in Sr1 Lanka. deposited

13.000

in a bank there

L-12561 2

(2-09/16)1 -12561 : 3

1‘/

(v)  Income from profession in Kenya received

there, the profession wads controlled from

| India 15.000
(vi)  Profits on sale on Machinery in India.
received in Nepal 10.000
(vil) Interest on UK Government Securities, half
of which received in India 5,000

Calculate the taxable Income of Shri Krishan Kumar for
the assessment year 2015-16, if he is (a) Resident:
(b). Not Ordinarily Resident; {c) Non-Resident. Sv
Mgﬁﬂzﬂ%ﬁwoi-a%gwﬂi

. X M
(i) mﬁﬂmﬂﬂ%%ﬁ%ﬁ%ﬂ@
) ﬁwﬁw 25,000
(ii) ﬁﬂ&ﬂd&@ﬂm&%mﬁmﬂumﬁ

R 9 e 15,000

(iii) gﬁaﬂw_@ﬁaﬁpgpaﬁamﬁﬁ_

(iv) mﬂﬁ%&zzﬂgﬁ«:boovm%ﬁmﬂmﬂ
IE2 ’

) ﬂ%ﬁ@mﬂﬂﬂﬂﬁawa,oooyﬂﬁﬂ@
faf=a o

(vi) ﬁﬁnﬂﬁﬂ,mﬁ@%ﬁfpooo\%ﬂﬂm
WS 7Y |

=

P.T.O.



1 FOT g 5 F-FEROT A 201516 = H-Ig _ 2015-16 & fom F7.9m7 3 Ealikivic EIE
T F T F, AR aw () e ARG N TR R 45,000 T wE, mmE e T 8.000 ¥y
SRS FART ¥ 9o (W) s 3 _ ﬂaaoﬁﬂﬂﬂmﬂﬁﬁyﬁﬁﬂbooﬁﬂ“

THE fEqer T % 6,000 W e, fafreg T Z 2,000
n@ﬁ\%ﬁ«w,goqmnﬂiﬂuﬁ

5. Mr. Ram is ?o%.zm ina Company at Delhi as Manager.

From the following information, find his taxable salary

¥ 3,000 3fg 7w | _
for the AY 2015-16 - . . .

. . ﬁgﬂﬂﬂznmﬂw?ﬁﬂmﬁ«wog
Basic Salary ¥ 45,000 PM; dearness allowance ¥ 8,000 W e R S 3 | S, 2015 @ W wER
, PM (60% considered for retirement benefits); Commission 3 @ fer 3 i . - a7 3 ey

T 4,000 PM, house rent allowance ¥ 6,000 PM, Medical o g— o TR F e w
Allowance ¥ 2,000 PM, tiffin allowance ¥ 3,000 PM and 3T sk T w3 T g TUE ¥ gt
- entertainment allowance 8,000 PM. . I ¥ N 15% e e | ELin g - Hue

- . Q N

He resides in a rented mo.ooBanm:.os. paying a monthly et 9.5% =1 Fifife WYz 60,000 &1 =5 S g |

rent of T 8,000. With mm.oﬁ from 1st January, 2015 he

. S . 6. (i) Define I value’ tat ti
was provided a rent free unfurnished house by the @ sline " Annual value’ and State the deductions that

. L are allowed from the al value in computj th
- company. HRA “was discontinued. on the same day. annu . Bw:Emo

. income from house waowmn%. 10
He and his company each contribute 15% of salary to .

recognised provident fund Interest credited during the _
year to RPF @ 9.5% is ¥ 60,000. 16 v A e

L-12561 4 ‘ , (2-0917)L-12561 5 P.T.O:



(i1 Write a notc on Expenditure on Scintific Research.

. 6
IR oG W T W us fewl fAfem |

7. What do you mean by the term ‘Capital Gains' used in
Income Tax Act ? What are the rules regarding exemption
of capital ma:.m ? 16
AR Aufe F owEm fFu g ‘de ey’ = 9@
ATH W FAIIT 2?2 Y W9 F g F T
¥ w7 fem %2

8. Anil an ordinarily resident in India eamned the following
incomes during the financial year 2014-15

4
Director's fees : N,.ooo
Income from agricultural land in Pakistan 5,000
Ground Rent for land in Pathankot 10,000
Interest on deposits with [FCI | 500
Dividend from wo@mz. company 700
Rent from sub-letting a house 26,250
Rent payable by Anil for the sub-let house 12,000
Other Expenses incurred on this sub-let house = - 1,000
Winning from Race-course - . 12,300
Interest on mmo.caaom " 4,000

You are required to calculate ‘Income from other sources’
of Anil for the AY 2015-16.

L-12561" : 6

2014-15 7 = wE = 3
3

e T 2.000
e ¥ fem F0 9= 3 5 5.000
wEEZ § | 9t 3 =T 10.000
[FCI 5 =W W = 500
faesht FwAl 9 AE 700
ot fedEr | faenm e 26.250
ol fRERE ® feu U mWeE #w At

e B ETIR] 12,000
fiedt fe@ m R T owAeEm W fEw T

I T 1,000
Yedg S A 12,300
yfagfeal W =TS 4,000

FT-fai =6 2015-16 B ‘o WAl € ' v

2

T wFa T oA@ H MO 9d oufad ® O

9. Explain the following :
(1)  Agricultural Income

(ii)  Difference between Tax Avoidance and Tax Planning
(111) Unabsorbed Depreciation. 5,6,5
(i) Fu =@

(i) * 5=@ ws F e 9 aW
(i) AT e

12-09.18) 1 .-12561 7 2,900



Stock on 1%t jan., 2014 : Rs.

Wmé, materials 4000
Finished Goods 5000
Stock on 31%t Dec., 2014

Raw materials . 6,000
Finished Goods 2.000
Purchase of Raw Material 24,000
Wages 10,000
Sales 65,000
Factory Expenses 7,750
Office Expenses 6,100

frafafed fagm 3§ .m,_m:A mw._yﬂm :

(31) Y-TI @

(F) Fad IuEE W 25% IR ome qer e
U 61 75% AfRg Iuftess w fmior e =7
oA &7 fgeRer |

(|) & @I gR1 i T ey fifaten e o
fodita @l & =i T € 0 faww ge @
+25% W fruifm & .

?
1 SEdl, 2014 1 WY

F1 T 4,000
TR A1 8,000

31 fou=m, 2014 &1 @Y .
Fe A 6,000
CRI I 2,000
Foal A H TR 24,000
LEEl | . 10,000
[GERI 65,000
. TR wd 7,750
Afwg T 6,100

L-12562-(TR) 8 2.300

Roll No. e Total Pages : (8
OBCQ/D-16 12562
COST ACCOUNTING-I
B(C-502

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

All questions carry equal marks.
F U Y % SW AWMU | W Hem 1 e
Tl oy & i "EA T

1.  Compulsory Question : 16

(a) Definé and classify the term Cost Centre.

(b) What are the types of wastage of material ?

(¢) Give the treatment of idle time cost.

A& Explain the distribution scheme of production
overheads.

(e) Describe the advantage of Cost Sheet.

(f) Give proforma of Reconciliation Statement.

Afrard wvF

(1) oa P T K1 R SfSw @en gt
FIAC |

(9) | # g§E ® fHed g ¥ 2

(9) fiftrs 99 @@ sweR (dede) dfsu |

(3-08/12)L-12562-(TR) P.T.O.



(%) IUEA TUETa &1 famw A & guiE RIS |
(3) @935 & w9 FAOC |
(%) wHHE fFEvm @ oy =iEu

“Cost accounts are key to economy 1n manufacture and
arc indispensable to the intelligent and economicat
management of a factorv.”™ Discuss. 16
AR mW TE T & R § W s & R
qen FfgAa aa ofgs weem % faw T A0 it |

i

Define cost and give its classification according to

relevance to Decision-making and Control. 16

ar| &t g s gan fofmm g g s
JEfTRd % SHER THE T HIS |

(a) Explain the difference between Store ladger and
Bin card.
®WR TR q fam #€ ° 3R = sy |

(b) The mo:ogsm are the particulars of the Receipts
and Issue of materials in factory during
March, 2014 :

March 1 Opening Balance 500 kg @ Rs. 25

per kg -
8 Issued 250 kg
13 Received from Vendor 200 kg o Ks. 2450
per kg
14 chg of surplus from 15 k- Rs.24.00
a work order per kg

L-12562-(TR) 2

16 Issued . 180 kg
20 Received trom Vendor 240 kg @ Rs. 24.37

per kg
24 lIssued 304 kg
25 Received from Vendor 320 k¢ @ Rs. 24.31
per kg
26 Issued 112 kg
27 Rutumn of surplus from 12kg @ Rs. 24.50
a work- order per kg
28 Received from Vendor 100 kg @ Rs. 25.00
per kg
29 Return to Vendor 50 kg

The store verification noted that on 15% March
there was a shortage of 5 kg and on 27" March
another shortage of 8 kg.

Write out the complete Store Ladger Account in respect

of above material using FIFO method. 6+10

qr, 2014 H H@l ¥ Gt e qun wie @

frafafea faem w :

g

25 TR G W 320 foram., @ 24.31 =

1y 9w 500 femm, @ 25 %
gfa fem.

8 frifha 250 T,

13 3727 9 g feu 200 T390, @ 24.50 .
ufa e,

(3-08:/3)1 ~12502-(TR) 3 P T.0.



5.

1.-1

2

14 & g JaEa aaE 15 R, @ 24.00 ®

o faffm 1y f

20 FAUET H WE 240 TFUL, @ 2437 %

24 fyifae 304 FFI

25 AT H W 20, @ 2431 7
EIGERED

26 frifia 112 fm.

27 wd sme g EEg A 12 L, @ 24.50 ®

28 dver § W 100 fa., @ 25.00 .
ufa  fFm.

29 AU W Y 50 fFm.

WR Y gAA F 9 §9 ge fF 15 6" A 3T
wis s fem. on gwn 27 W &1 5= =Re 8 fEm
o |

FIFO fafy & wam | Swie o & 924 o ol
TR oS @ g |

A worker get wages of Rs. 12 in a week of 48 hours
under Halsey Premium Plan and received 10 paise per hour
as cost of living bonus, for the work done. He was
allotted a piece of work to be completed mn & hours

oiven 307, of

&

which he completed in 6 hours. He. is
bonus for the time saved. What would be the total income
of that fabour per hour 2 If he s pard under Rowan Plan,
v 16

what would be the differences

562-(TR) 4

TF FEEE wEg WETH A & s I9E & 48 I H
12 % HEgh wE FvA 7 AW 51 ™ wE % fau fafan
qE F AT F o OH 10 U9 T A2 WS #e § 1 39 R
a2 g ol w S T T I A T W I 6 92 °
FT ey | 99 995 % A 39 30% 999 fom w9
F 9 T e A P e e 2 At 96 T e
F A A T W € A SR F gl e ?

Detine ‘y@mo:u:o:_ Explain Accounting and Absorption
of Adminisirative overheads and Selling and Distribution
Overheads. 16
qASIEOT W URW ATEU | GOETR STeReTd ael
faFg ug famo 3ufem™ &1 oi@l qon @9y F U

FIfeC |

Define Cost Audit. How does Cost Audit differ from
Financial Audit ? 16
AN A R dfsw | dra siee fadE
sEdm A Fg_ = ¥ 2

From the following information relating to the production
of commodity ‘X", you are required to ascertain

(a)  Value of matenial used

(b)y Cost of production

(¢) Cost ot sales

(dy ™ot prort

i

() Profit por ten of commeaedity.

IR (TR 5 1.0,



Rs.

Purchase of Raw Material : 1.32.000 S e { 12,000
Omﬁ.wmmm Inward 1,380 qEE W 1550
Rents, Rates and Insurance of Factory 44,000 T = 144,000
Opening Stock of Raw Material 22,000 = wE F UTREE =i 22600
Opening Stock of Finished Goods (800 tons) 17,600 FE TEW (800 =) @ Ui W 17,600
Closing Stock of Raw Material 24,460 F== T ® AH =E 24,460
Closing Stock of Finished Goods (1600 tons) 35,200 FomE (1600 2F) F oAE W=iE 35,200
Work in Progress Opening 5,280 yieE SfEaRa w 5.280
Work in Progress Closing 17,600 afam wiwrama FE 17,600
Sale of Finished Goods 3,30,000 TR wE F e 3,30,000
Cost of factory supervision 8,800 Faedl frEo 1 A 8,800
Direct wages 1,10,000 m.mmm SRR . 1,10,000

, lowed. advertisi 4 selli . g W Fodl o, famm wen fasa w4 wfwr 7S

c ' ert moun os X .
Discount allowed, advertising and selling expenses a 5 S wh =91 T s ¥ 12800 T .
to 75 paise per ton sold. 12,800 tons of commodities o !
were produced during the period. 16
aw X F I@Rd 9 gatug fr=fafed g o oIl 9. From the followmg particulars, prepare .
Sfraq w01 2 (a) Profit and Loss Account

5 b) A Stat t of Cost of Manuf: 1 1
(1) , 1 T (b) atement o ost of Manufacture calculating

(§) 3IdAEA

(@) fowa @rma
(3) Yo @™

(z) @ F o9fd@ A @49

factory overhead at 25% of prime cost and office
overhead at 75% of factory overhead

(c) A Statement Reconciling the profit shown by the
Cost Accounts with that shown by the Financial

Accounts. The selling price 1s fixed at cost + 23%.

]

-12562-(TR ) 5 .
1.-12562-(TR) (3-08 15),-12562-(TR) 7 P.T.O.
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OBCQ/D-18 12563
MANAGEMENT ACCOUNTIN ..WZU
FINANCIAL MANAGEMENT-]
B(C-503

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. t is compulsory.

| Attemipt four more questions from  remaining eight
questions carrying 16 marks each.

FA U WA % s AT | yed Hem | sifar

T UM NS WA F Y EE R OWE SIRU, yolw

I 16 3k FHT T |

(Compulsory Question)

( 3rfaTd wo T )

1. (1) Utlity of Management Accounting. 3

YERIEIT SEFA % 39

(11) Define Financial Management. 3
foda ya #= g %TJ
(i) Objectives of Ratio Analys 3

(3-20/5) L-12563 . P.T.O.



3

(1v) Difference between Fund Flow Statemen: und Cash

Flow Stat ¢ 3 (1iv)  Working Capital 60,000
ow Statement.
fafu ware faeor qon e wEE fEem S ow=nw (v) Reserve and Surplus 40,000
() Under-capitalisation, 2 (vi) Bank Overdraft 10,000
TG-S | (vit) There is no long term loan or fictitious asses
- ,.
(vi) Limitations of Capital Budgeting, 2 Frferten g § o s <5
EEUNCE COlcy i (i) =Tl AT 2.5
(i) W& U , 1.5
2. What do you mean by Management Accounting ? (ili) @ s 0.75
Distinguish  between Management Accounting and (o Sl ® e
Financial Accounting. 6.10 Ed
- . - B I - - 5 3 7 - w\ .~
HIHhTd e ﬁ, AMET F #3II T ? gEEFE (iv) R 60,000
WEFT A9 T e ¥ SRR aany | ) e T s 40,000
3. What is Financial Statement ? Discuss iis objectives and (vi) d% sfufaesd , 10,000
limitations. 6.10 (vil) @l emafy #1 WU qen srardfgw Tefa e €

foda famor 71 ¢ 7 === s3vo 39 dmEs s gvE

FIT |

5. What is Cash Flow Statement ? How is it prepared ? 6,10
TFT vaTE foewor @ € 7 39 B qAR R W wwr € 2

4. From the following information, prepare a Balance Sheet - . . .
) e 6. What do you mean by financial planning ? What are the
(1)  Current Ratio 2.5 .
principles of a sound financial plan. 4,12
(i)  liquid Ratio .5 N . , X \
) Lig fesita farem 1 € 2 & g fade A = fSew ®&n
(iii) Proprietors Ratio 0.75 -
T
(Fixed Assets/Proprietors Fund)
(3-20/6) 1.-12563 3 P.T.O.

‘L-12563 2



Froms the  following  balances of X Lid. on X Ld. & ffefes o9 9 fom #fm .

S st December, 2004 and 2005, you are required to (37) FHEviE I F wfdn #1 eeg
prepare (&) g gar faam .
(a) of changes in Working Capital. afae 2004 200% 2014 2005
(b} Fund 4 Z z ?
Liabilities 1004 20065 Asscts 2014 2005 9 T 50.000  50.000 = 6.000  5.000
5 5 N , .
¢ ‘ : ‘ T T 7,000 9.000 WA 20,000 18.000
Share Capital 50,000 6,000 3,000 - .
nare t-apia ; v - FTE 8000 6,500 frw 5000 6,500
General Reserve 7,000 20,000 18,000 u .
SEESLS 4,000 2,700 e 18,500 18,000
P& L Account 5,000 6,500 . - .
ECRER 600 400 wWiF 15,000 11,700
Creditors 4.000 2,700 Plant 18.500 18,000 . ~
FH A€ g™ 8,000 9.000 wem fasm 1,000 1,600
Bills Pavabie Stock 12,000 11,700 i . .
iy ol % fag ESEIR 9,000 9,500
Provisio s.000 9 1.000  1.600 .
. FIEE ] 200 300 9% 7 I%g 3,300 7,600
faxation
A . 77,800 77,900 77,800 77,900
204G Debtors 9,000 9,500
o Afafaa germ -
7.600
00 (i) =N W BH 2,000 % M wad W B
2,000 & |
5000 (i) =9 2005 H, #X F AU 9,500 T F gEEA

P o

500 was made (i) 4,000 T STH wmw 2005 F fem wE

8. What is over capitalisation ? What are its causes 26,10

q Q

SAfTYSTHRI R T 7 THF FA HRO F 7

(G

fe

(3-20/7) L-12563 5 P.T.O.



9. A choice is to be made between two competing proposals

5

which require an equal investment of ¥ 50,000 and are E AT T 10% € | TR Wi o

expected to generate net cash flows as under :

Year Project I (%) Project Il ()
1 25,000 10,000
2 15,000 12,000 FAA T 10% W T TFR T
3 10,000 18,000 0.909. 0.826, 0.751, 0.683, 0.621 T 0.564 FAW: |, 2,
4 Nil 25,000 30405 6 an % fow
5 12,000 8,000
6 6,000 4,000

The cost of capital of the company is 10%. Which project
should be chosen under :

(a) Payback Period

(b) NPV Method.

Discount factors at 10% are, 0.909,0.826, 0.751, 0.683, 0.621
and 0.564 for the years 1, 2, 3, 4, 5, 6 respectively. 8.8
A it i, e s fEw 50000 v #
WETIHRA T, B WA T € | HUed Uee e e

b 8
EL gfEeET (3)  ufdEsmr 1 ()
1 25,000 10,000
2 15,000 12,000
3 10,000 18,000
4 N 25,000
5 12,000 8,000
6 6,000 4,000
L-12563 6

(3-20'8) 1.-12563 7 2,500
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, OBCQ/D-16 12564
BUSINESS ENVIRONMENT-I
BC-504
Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. Attempt any four more
questions from remaining eight questions.
WA Hem 1 afEd € 9w we v ¥ ow e
IR Y AR Ff

1. Compulsory Question
(i)  Explain relationship between Business and
Environment. 3

What is Industrial Policy ? 3

_—
— s
—

p—

(i)  Give three arguments in favour of Privatisation. 3
(iv)  Explain any three causes of increase in Fiscal deficit,

3
(v)  Write any mwo features of National Income of India.

2

(vi)  Explain nvo causes of social injustice in India. 2

22000312564 P.T.O.



FoUg " OFE A d% SIfST |
g2 F AZH FOFE AN HROT F

A FAC |

(v) 9¥a W TLE I R R o fovivad wqrEu |
ST F HE BT FHNO] gadEd |

Fxplain the components of busiress environment in detail.

e

TIHIAE AT E Aed] &1 fawgd 9 & |16

What is meant by capital formation ? What is its

o

importance in economic development ? 4,12

A

S i 1 wn afm ® 2 onfies e ¥ gEe #

TEE € 7

Mention main causes of poverty in India. Also explain
the steps taken by government to eradicate poverty in
India. 8.8
avd 4 3 & g% SR # FUH FieT | 9Rd H
T FH HH F U WER W I MU HIA HT

AT o FHifa |

‘I
<
4
[

5. Define Industrial Sickness. Explain in detail the causes of
Industrial Sickness. 4,12
ArfrE T Wl gRd ST | iR o @
FRO F1 foRR 9 e Fe |

6. Mention the instruments of Monetary Policy used in India.
A ¥ fom Ofiw dES w1 owEm e S R, s
fag=m +if T | ‘ 16

7. Critically explain objectives and working of Industrial
Licensing Policy. 16
e wrdfan i & sivd 9 el # e
AT HISY |

8. Write short notes on the following : 8.8
(a) Special Economic Zones
(b)  Objectives of SEBI.
frefafem W wiaw feford ey
(37) o onfem &=
(4) ¥ F ]I |

9. What do you mean by inflation ? Discuss its causes. How
can it be controlled ? 4.6,6
TEreRia W ATl e ATAYE § 7 TEG HEON ® =
FIU | T FE A fFw s wwa € 2

(3-20/19L-12564 3 2.000



8. Distinguish between geometric transformation and co-

ordinate transformation with example. 9

,ﬂwﬁmﬁd%%mgﬁﬂagﬁm

HHR «@ET |

9. Write notes on the following :
(a) Video Cards (i.e., VGA, XGA)
(b) Display System
(c) Plotters. 333
frafafen w femforal fafew
(31) dife wIEF (ie., VGA, x@i
(%) feext fowem
(9) wied |

12577(TR) 4 550

Roll No. Total Pages : 04
OBCQ/D-16 12577
COMPUTER APPLICATION
BC-505

Computer Aided Design

Time : Three Hours] [Maximum Marks : 45

Note : Attempt Five n:o.mmosm in all. Q. No. 1 is compulsory.

All questions carry equal marks.
HA Ug Y SW ST |y EEm 1 ﬁﬂm&

2 oEdt yE @ e A T

1. -Short answer type nzn"mmo_z (compulsory question) :
{(a) How is AUTOCAD used in electronics design 7
(b) List some common toolbars used .5 AUTOCAD

software. ‘
(c) Define a color palette.
(d) How can you create a user interface in AUTOCAD
software ? \
(e) Explain the working of Joystick.
(f)  Write the default unit of AUTOCAD software.

1Y2%6

(2-11/3) 1L-12577(TR) PT.O.



diga I9a v (fed 9w)

(31) AUTOCAD i+ fesga o &9 wam fea
Sl ® 2

(d) AUTOCAD TRd® ¥ Y %5 AR TEER &
T T |

(¥) weR Yoie ®t g Sfw |

(T) AUTOCAD WRaWR | IR =T &1 FaI 319
G B GHd § ?

(3) afes # SRRt &1 T FifTe |

(%) AUTOCAD dwadR =1 fewee s fafew |

2. U:wanmummﬁ the following :
(a) Image Resolution and Screen Resolution
(b) Aspect ratio and Refresh rate. 4%2,4Y>
frafafaa 9 i@ wifsg - .
(31) THS WiegEE 9 R e
(a) TeeR W dw foew w

3. Derive the transformation that rotates an object point by
an angle 60° about the origin. Also write matrix
representation for this rotation. 9
I9 EURO B A Fie St oqa fag @ emgum
60° F TIOT W GE] B YHE T | TM U & fau
e wevl s fafee o

1-12577(TRy 2

Draw a straight line from point (5, 10) to point (15, 30)
using simple digital differential analyzer (DDA) method.

9
TR fefsea fawsm faveiws (DDA) fafu @ fag

(5, 10) ¥ fag (15, 30) 9% & i @ @ifgu |

Explain the following :

(a) Polygon Clipping

(b) Area Filling. 4%5,4%;
frafafea =1 =uren s

(a1) wgyw fearfym

() ufen fwferm |

Explain the working and technological aspect of the
following output devices :

(a) Light Emitting Diode (LED)

(b) Liquid Crystal Device (LCD). , 4Y2,4%s
frfafea seeqe feamw =1 wrywel T d%ieR
TEqell w1 IuFH wifu

() gHE IS s (LED)

(F) @ fowa feawy (LCD)

Draw a chair using AUTOCAD commands. 9
AUTOCAD #HAiE % FaM & T&F &®dl =1 63
ifay |

(2-11/4) L-12577(TR) 3 P.T.O.
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OBCQ/D-16 - 12581
PROPERTY AND LIABILITY INSURAN CE
PPI-BC-505
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 consisting of 6
parts is compulsory. Attempt four questions from the
remaining eight questions. Each question carries 16
marks. .
@ wE SR HIR | T e 1 st & o
6 ud ¥ 1 Y ome v ¥ 9 fERl oUW WA &
T AT | TF W 16 3w T

1. Write notes on the following : |

(i)  Non-Insurable Risk

(i) Medical Benefit Insurance

W W W

(iii) Boiler Machinery Insurance
(iv) Concept of Specific and All Risk Insurance

(v) Dishonest Insurance

N W

(vi) Theft Insurance.
Frefofeg w dfaw foafmt fafew -
() R oA Sitem

(2-19/12) [ .-12581 2T



(i) fTafecm omw <=

(iif) SR TYEG SimW

(iv) fafere ik wsft Sifew < & sEyron
(v) EEG I

(viy =R &

Define Insurance. Explain its essential features. 16
S &1 o Gfew | TEe vavEw dYT Wl e
HIfT |

Describe the procedure of evaluation of risk in Property
Insurance. What are the challenging issues in risk

evaluation ? 16

wwfg &t o Sifem & qoaiea &t ufwar sagd | sifem
qeiEr § R gt T ¥ 2

What is Re-Insurance ? Explain various methods of Re-
insurance. 16
W 9 F oAfwg € 2 et w1 fafam fafiml @
U FET |

Write notes on the following :
(a; Budgetary Covers
(i) Awviation Insurance

(¢} Destruction Insurance

L N S

{dy Drwelling Property Loss.

- HIRRY 2

frfafer w fewforar fafeu .
(31) T wR
(9) fourmm <
(%) daE =@
(x) fremm 78 g=fa @fq

6. Discuss the procedure of obtaining liability insurance.
Also describe the position of insurance agent in case of
liability insurance. 16
A A WK FE HI YR F GEARY | <T@ S B
HAG § W USe & feafa w1 ot aolw wifsw

7. What 1s Auto Insurance ? Explain claim settlement in
auto insurance. 16
e fm o % 2 A W gl wwgd ®
HAARY |

8. Explain the nature of property and liability insurance.
Describe the various types of Property Insurance. 16
iy e I § S yefa w1 smen v | g
$im & fafis v F § 2

9. Explain in detail the following :
(a) Medical Benefit Insurance 8
(b) Legal Position of Insurance Agent. 8
frafafed w1 fase svl =it -
(1) Tafeen ==z iw
(8) #Fm use = dufre foufy

(2-19/13)1.-12581 200
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BCQ/S-16 21130-S
INCOME TAX
Paper-I
[:me  Three Hours] [Maximum Marks : 80

Note :  Attempt five questions in all. selecting at least one
questions from each unit but not more than two questions
from any unit. All questions carrv equal marks.

M . T U T F IW G TEE EE ¥ FE-9-99
F @ fuwam @ W F IR Afw o e
W& A

UNIT-I ( 3h1E-1)

1. Write short notes :
(a) Tax Planning.
(b) Tax Evasion.
(¢c) Tax Avoidance. 16
froforat fafax .
(F) 2 frarm
(@) F]X FgE=AI

(M) = 94917

21130-S/300/KD/392 [P.T.O.



“The incidence of Income tax depends upon the residential
status of an assessee.” Discuss in detail. 16

“F-gfam w1 fAuio FEa w5 e ot w sk
F@ 2" I H

Define Annual Value. What are the criteria for determining
the Annual value ? 16

e e w1 o S e e e wE S
N WS 82

Smt. Rita is employed in a company at Pune and drawing
a basic salary of ¥ 15,000 pm, dearness allowance ¥ 6,000
pm runder the term of employement); entertainment
allowance ¥ 1.200 pm: education allowance ¥ 250 pm per
child for 3 children. Her employer's and her own
contribution to RPF I 23.000 each. Interest on RPF @ 11%
¥ 19,800. She has been provided with a rent free house
with fair rental value of ¥ 72.000 p.a. Cost of furniture
T 40,000. She has also been provided with the facility of
small car for official as well as personal purposes. She paid
LIC premium of ¥ 4.000 on her own life (sum assured
% 1,00,000).

Compute her taxable salary for the A.Y. 2015-16. 16

fiodt o TF FTHA F @ H WawRa €, 4 T 15000 99
I 9 T W W E, W 9 T 6,000 97 gE (WA
I F E), WARSE wa T 1200 WA WE. T= OF

foren =71 9= T 250 Wid 9 Wi w== A° 5= % fAw

21130-S/300/KD/392 2

S.

3
M&.ooon&ﬂw @H:uﬂ?ﬂg@&?@@
ﬁwﬂgﬁ@4~o‘mcc§§_ﬂﬁ$&@
BT 2 foryey T
TE &1 oty 5 q@m@ﬁmﬂ«swwm
3 T oid gy %a«é,gow‘ﬂ%wuﬁ.fw
SR oy ﬁaﬁamﬁiﬂﬁ% !
T R S sy e
_ﬁgwfcgﬁmﬁu R s
1.00.000) B (i
F-Fafroy o
Noalmm.w
.ﬂuﬂﬂjﬂ @mwﬂﬁmﬂﬁﬂmﬁﬁ

(a) Cost of Bonuys Shares
(b) Capita] gain exem

(c) .
Bond Washing transcatiop

R R oy

Write
S
hort notes on the followine

pted under Section 54F

(4.8.4)
38

16

I.o.

[P.T.O



6.

Compute Taxable Income and Gross Tax liability of Shri
Mohan for the assessment year 2015-16 from the following

() e gt w1 T 25,000.

particulars : (B) eTFF gt e T 40,000.
(a) Gross Salary ¥ 5,00,000. (F) fFram fae@-73 W =9« T 5,000.
(b) Rent from House Property ¥ 60,000. (@) st TR 7 FH W@ F e S AHEE w5 e
(¢) Interest received from Bank deposit ¥ 10,800. ¥ T 10.000.
(d) Income from Horse Race ¥ 20,000.
(e) Agriculture Income  20.000. 7. A.Band C ma.m equal vmﬂ:mnm in a firm. mwn the v8<‘_ocm
year the particulars of income of the firm are given
(f) Long-term Capital Loss I 25,000. below :
(g) Short-term Capital Gain I 40,000. (a) Profit from business after debiting remuneration to
(h) Interest on Kisan Vikas Patra T 5,000. partners ¥ 2,00,000.
(i) LIC Premium paid by Shri Mohan out of his Agriculture (b) Long-term Capital Gain % 1,00.000.
Income. X 10,000. 16 (c) Interest on Bank Deposit T 50,000.
F-fraftr @ 2015-16 & fow frefea faewon 9 o (d) Remuneration to Partners ¥ 1,80,000.
THEA H HE@RA AT qN WFA FH-MAE FOTOAT
(e) Unabsorbed Depreciation ¥ 30.000.
HIT
. (f) B/F Business Loss ¥ 2,00,000.
(%) ¥&ha ga7 T 5.00.000.
(g) Capital Gain invested in specified assets I 30,000.
(@) we[ gEfa 9 & T 60.000. o : :
(h) Amount deposited in Capital Gain A/c scheme, 1988
(M) 9% T | T & T 10.800. < 30.000
(%) m«&w ¥ 3@ T 20,000 Compute Total Income and Tax liability of the firm. y
(¥) $fw 3m@ T 20,000.
21130-S/300/KD/392 4 21130-S/300/KD/392 5 [P.T.O.



"G

ﬁ.m.ﬂ@im%%ﬂ@ﬂz%ﬂﬂmﬁ 9.
= o T wn fefates ®

Explain briefly the differen: memils 17 23sessm

ot = -

bl ~ -~ - -
mm~|WE_ua_ D Toemem 3 . > e - =z
=

(F)=AMR ¥ A (TERR F e W AR
Z 200 000. 10. Explain the generz. prinoipizs of imposing penalty. 16

(@) S gt @ X 1,00,000. 3

(M) d% W W == T 50,000.

(%) TERE w1 TRgfEE T 1.80.000.

(T) wentA = T 30000

(9) s @€ T A T T 2.00.000.

(o) ffte wwfe ® faf@m T 50,000

(F) R wF @A =W 1988 § s T 30,000

ﬂnﬁﬂmﬁﬂﬁﬂ-ﬁﬁmﬂ%ﬂ._
UNIT-III ( Z&R-11D)

. Under what circumstances income of other persons can be
treated as income of the assessee under Income Tax Act ?
16
SrE SfutEe @ e g w1 e R aftfeufadi
§ FEm F oo W S E2

21130-S/300/KD/392 6 27130-S/300 KD 292 7
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BCQ/S-16 21133-S
BUSINESS ENVIRONMENT
Paper : IV
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question but

e -

not more than two questions from any Unit. All questions
carry equal marks.

T THE ¥ |9 & a9 Sfusen @ W @
TR FW T, F/ U I # SW AR wf e
% 3w A ¥

UNIT-I (FamE-1)

“That company can grow which adapts to the changing
environment”. Comment.

“oE HYN TR WX TEA &, W fF SEeR SR @
o o #) frmel s

State the present position of unemployment in India. Explain
the efforts undertaken by the government to increase
employment.

O § SO # ade feofd ® SarT @R g
IR F 97 # fog fFg T WE F IR FEERg

What do you mean by regional imbalances? Critically
examine different measures undertaken by the government
to remove regional imbalances in India.

g omqE ¥ oTYE ¥ A ¥ wWwa ¥ &

e W [ F@ ® fAU 9T WER gR T T
fafam Ul w1 RS YeFiET HIt
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What do you mean by the parallel economy? Explain the
factors responsible for its growth.

AR Teferaeen ¥ oge ¥ oY R? TEE IS B
o STl wReEl w EWETEn

UNIT-II (¥&Te-11 )

Critically examine the Monetary Policy of Reserve Bank of
India.

W fod S @ A A w1 e geaiE
Fifval

What is meant by foreign investment? Discuss the present
position of foreign investment in India. Give suggestions to
improve it.

fet faw =1 7 od 82 9 A feh fRw
A feorfd | == FAY W QuR ¥ ST @ g
i

Critically explain the objectives and working of Industrial
Licensing Policy of India.

wRa F el wmmefen Ay ® SR qwn wEl R
iy §9 9 9HERET

UNIT-III ( $eh1s-111 )

What do you mean by volume, direction and composition
of foreign trade? Explain the problems of developing
countries in world trade.

fadeft =R =Y ", e wen wEeR ¥ o e ¥ oot
?? fova =R ¥ frwradie T W wEnel @ an ®
THETET
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9.

10.

Explain the functions of International Monetary Fund (IMF).
How far has it been successful in discharging its functions?
What benefits India has received from the membership of
IMF

iﬂumﬂﬁdAgﬂaﬂEﬂ%_ﬁﬁw
FE F FA T wE TF TwA W ¥ W (IMF)
TS ¥ RE 2w | W R

Write a note on World Trade Organization (WTO) and
explain the difference between GATT and WTO.

fava =MWR ¥ (WTO) W wF e fafew @ #=
(GATT) 3 =AM (WTO) & &9 & R H oy
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